
 

-NOTICE- 
IF YOUR JT GLADIATOR IS EQUIPPED WITH: 

 

BACKUP 
SENSORS 

AND/OR LED LIGHT 
PACKAGE 

 
 

YOU WILL NEED TO GATHER THE FOLLOWING MOPAR PARTS: 
 

For LED License Plate Lights – You will need the following: 

 (QTY 1) 6KM23RXFAA - License Plate Lamp Bezel, Left 

 (QTY 1) 6KM22RXFAA - License Plate Lamp Bezel, Right 

 (QTY 1) 6TB07RXFAA - License Lamp Bracket, Left 

 (QTY 1) 6TB06RXFAA - License Lamp Bracket, Right 

 

For Backup Sensors – You will need the following: 

 (QTY 1) 6MH85RXFAC - Parking Distance Bezel 

 (QTY 1) 6MH83RXFAB - Parking Distance Bezel 

 (QTY 1) 6MH82RXFAB - Parking Distance Bezel 

 (QTY 1) 6MH84RXFAB - Parking Distance Bezel 

 (QTY 1) 68295603AC - Sensor Mounting Bracket 

 (QTY 1) 68295601AC - Sensor Mounting Bracket 

 (QTY 1) 68295600AC - Sensor Mounting Bracket 

 (QTY 1) 68295602AC - Sensor Mounting Bracket 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 



 
FB22149 

 

Jeep® JT Gladiator 

Mako Rear Bumper 

 

 

2214900 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

REQUIRED TOOLS 
18mm Socket 
8mm Allen 
4mm Allen 

KIT CONTAINS 
JT Gladiator Mako Rear Bumper 
D-Rings 
M12 Hex Nut 
M12 Washer 
M12 Lock Washer 
M12 Counter Sunk Bolt 
M6 Button Head Bolts 
M6 Washers 
M6 Lock Washers 

QTY 
1 
2 
6 
6 
6 
2 
4 
4 
4 

  



 
FB22149 

 

Jeep® JT Gladiator 

Mako Rear Bumper 

 

1 
2214900 

1) REMOVE EXISTING BUMPER 
Remove your existing rear bumper according to the 
manufacturer’s instructions.  We show how to 
remove your factory bumper in another video at 
www.FishboneOffroad.TV .  

 
 
If your model has sensors, remove them in order, 
left to right, one through four.  

 
 
2) PREPARE YOUR MAKO BUMPER FOR 

INSTALLATION 
With the Mako aside, re-install your trailer wiring 
plug and license plate lights into it. 

 

 
 

 
 
If your model has sensors, pop out our included 
sensor plugs from the bumper, and re-install your 
sensors in order, and as they were oriented in the 
factory bumper. 

 
 
 
 
 

http://www.fishboneoffroad.tv/


 
FB22149 

 

Jeep® JT Gladiator 

Mako Rear Bumper 

 

2 
2214900 

Remove the factory clip nuts from the JT’s frame. 

 
 

3) INSTALL YOUR MAKO BUMPER 
Slide the Mako into the frame mounting holes. 

 
 
With the included flat washers, lock washers and 
hex nuts, secure the bumper to the left and right 
frame mounts with an 18mm Socket. 

 
 

Secure the center of the bumper to the frame with 
the remaining (2) counter sunk bolts with an 8mm 
Allen key. 
 

4) RECONNECT WIRES 
With your bumper in place, reconnect your trailer 
wiring, license plate lights wiring, and the sensor 
plugs harness. 

 
 

 
 

5) REINSTALL YOUR LICENSE PLATE 
With the included bolts, washers, and a 4mm Allen, 
secure your license plate to the center of the 
bumper. 



 
FB22149 

 

Jeep® JT Gladiator 

Mako Rear Bumper 

 

3 
2214900 

 
 

6) INSTALL D-RINGS 
 

 
 

ENJOY YOUR NEW FISHBONE OFFROAD JT MAKO 
REAR BUMPER! 
 

 


